



WELL COMPLETION FORM WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License # 31569	API No. 15 - 163-23757-00-00
Name: Bach Oil Production	County: Rooks
Address: P.O. Box 723	SE -NE - NE Sec. 16 Twp. 7 S. R. 20 ☐ East West
City/State/Zip: Alma, NE. 68920	610' feet from S (circle one) Line of Section
Purchaser: Coffyville Resources	260' feet from F / W (circle one) Line of Section
Operator Contact Person, Jason Bach	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 476-5254 KANSAS CORPORATION COMMISSIO	(circle one) NE 85 NW SW
Contractor: Name: Anderson Drilling FEB 0 9 2009	Lease Name: Ross Unit Well #: 2
License: 33237	Field Name:
Wallaita Castasian Randy Kilian CONSERVATION DIVISION	Producing Formation:
Designate Type of Completion:	Elevation: Ground: 2081' Kelly Bushing: 2086'
New Well Re-Entry Workover	Total Depth: 3610' Plug Back Total Depth:
Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 233 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used?
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth setFeet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from
Operator:	feet depth tosx cmt.
Well Name:	
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	3-11-09
Plug Back Plug Back Total Depth	Chloride content ppm Fluid volume bbls Dewatering method used _Air Dry
Commingled Docket No.	
Dual Completion Docket No	Location of fluid disposal if hauled offsite:
Other (SWD or Enhr.?) Docket No	Operator Name:
,	Lease Name: License No.:
09-06-08 09-11-08 09-11-08 Spud Date or Date Reached TD Completion Date or	Quarter Sec TwpS. R
Recompletion Date Recompletion Date	County: Docket No.:
	,
Kansas 67202, within 120 days of the spud date, recompletion, workove Information of side two of this form will be held confidential for a period of 1	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, or or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 2 months if requested in writing and submitted with the form (see rule 82-3-and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
All requirements of the statutes, rules and regulations promulgated to regulation herein are complete and correct to the best of my knowledge.	te the oil and gas industry have been fully complied with and the statements
Signature:	KCC Office Use ONLY
Title:	Letter of Confidentiality Received
Subscribed and sworn to before me this 8th day of January	If Denied, Yes Date:
	ARY - State of Nebraska 1
	ENE L. DECKER - Geologist Report Received
Date Commission Expires: Jan. 25, 2013	<u> </u>

Operator Name: Bach	Oil 1 Toddection			Lease	Name:	Ross Unit		Well #: 2		
Sec Twp7		_ East	✓ West	Count	y: Rooks					
NSTRUCTIONS: Show ested, time tool open a emperature, fluid recove Electric Wireline Logs s	and closed, flowir very, and flow rate	ng and shut-ir es if gas to si	n pressures, urface test, a	whether si along with t	hut-in pre	ssure reached	static level, hydr	rostatic pressur	res, bottom l	nole
Orill Stem Tests Taken		✓ Yes	. No		V L	og Format	ion (Top), Depth	and Datum	Saı	mple
Attach Additional St Samples Sent to Geolo	,	✓ Yes	s ∏No		Nam			Top 1656'	Dai +43	tum
Cores Taken		√ Yes			Anhy Tope			3064'	-97	
Electric Log Run		✓ Yes			Heeb			3268'	-11	
(Submit Copy)		• -	_						-12	
List All E. Logs Run: A DIL', MI COMPSTD.	erid 3 la	- 4/	1-21		Toror			3297'	-12 -12	
34		12 60	1201:		Lans	ing		3310'		
IL, MIC	RORES!	בארנדן	y; Dur	te-	BKC			3507'	-14:	
Compete).	POROS 17	γ	,		Arbu	ckle		3549'	-14	
					TD			3613'	-15	27
_				RECORD	☐ Ne					
S. S	Size Hole		all strings set- Casing		urtace, inte ight	ermediate, produc Setting	Type of	# Sacks	Type and	1 Perc
Purpose of String	Drilled		In O.D.)		/ Ft.	Depth	Cement	Used		tives
Surface	12 1/4	8 5/8		20#		233'	сом	160	3%CC;2%	6Gel
		-	ADDITIONA	L CEMENT	ING / SQL	JEEZE RECOR	D			
Purpose: Perforate Protect Casing Plug Back TD	Depth Top Bottom	Туре о	of Cement	#Sack	s Used		Type and	Percent Additive	s	-
Plug Off Zone										
Shots Per Foot		TION RECORD y Footage of Ea		•.) 		acture, Shot, Ceme Amount and Kind of I		ord	Dep
								ECEIVED		
							KANSAS COR	PORATION COM	Missi	
	<u> </u>	· · · ·	,				FE	3 0 9 2009		
								RVATIONDIVISION	D'	
								WICHITA, KS		
TUBING RECORD	Size	Set At		Packer	At	Liner Run	Yes N	lo		
Date of First, Resumerd	Production, SWD or	Enhr.	Producing Me	ethod	Flowin	g Pump	ing ☐ Gas I	Lift \ \ \ Oth	ner (Explain)	
Estimated Production Per 24 Hours	Oil	Bbls.	Gas	Mcf	Wate		Bbls.	Gas-Oil Ratio	· · · · · ·	Grav
								 		
Disposition of Gas	METHOD OF	COMPLETION	١			Production Inte	erval			



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice: Fax:

(785) 483-3887 (785) 483-5566

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661

		N	V	0		C	E
--	--	---	---	---	--	---	---

Invoice Number: 116044

Invoice Date: Sep 11, 2008

Page:

1

dhemolera)	Mandamatic de Caracteria (Mandamatica)	Payment	Cimol .
Bach	Ross Unit #2-	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2	Russell	Sep 11, 2008	10/11/08

ACR AMPRICATION OF STREET, STR	F. Jim	Description .	Unik Prico	Amount 💥 🕽
138.00	MAT	Class A Common	13.50	1,863.00
92.00	MAT	Pozmix	7.55	694.60
8.00	MAT	Gel	20.25	162.00
58.00	MAT	Flo Seal	2.45	142.10
238.00	SER	Handling	2.25	535.50
50.00	SER	Mileage 238 sx @.10 per sk per mi	23.80	1,190.00
1.00	SER	Rotary Plug	991.00	991.00
50.00	SER	Mileage Pump Truck	7.50	375.00
1:00	EQP	Wiper Plug	39.00	39.00
			RECEIVED INSAS CORPORATION CON FEB 0 9 200 CONSERVATION DIVE WICHITA, KS	9
ALL PRICES A	RE NET, PAYABL	E Subtotal		5,992.20
	OMING DATE O			

30 DAYS FOLLOWING DATE OF INVOICE. 11/2% CHARGED THEREAFTER. IF ACCOUNT IS CURRENT, TAKE DISCOUNT OF



ONLY IF PAID ON OR BEFORE

Subtotal	5,992.20
Sales Tax	317.59
Total Invoice Amount	6,309.79
Payment/Credit Applied	

ALLIED CEMENTING CO., LLC. 34597

	arn.	LUCE BODY
T TO P.O. BOX 31 RUSSELL, KANSAS 67665	SER	VICE POINT: LUSSEN KS.
		Russell Ks.
DATE 9-11-208 16 7 c 200	CALLED OUT ON LOCATION	JOB START JOB FINISH
LEASE ROSS WELL# 2 LOCATION DAMAS	N. To New 24 HWY	ROOKS KANSES
OLD OR (EW)(Circle one)	3N 4W INTO	
	371 (2 47.0	
CONTRACTOR A & A DALG. Kig#2	OWNER	
TYPE OF JOB ROTARY Plug	CELENTE	- /0.
HOLE SIZE 7 9/8 / T.D. 36/0 CASING SIZE 85/8 SURFACE DEPTH 238	CEMENT 2	30cx 20 49ca
CASING SIZE 8 78 SURFACE DEPTH 238 TUBING SIZE DEPTH	AMOUNT ORDERED	F10-Seal
DRILL PIPE 413 F-H DEPTH 3520	4 7	
TOOL DEPTH		~ 91
PRES. MAX MINIMUM	COMMON 132	@ 13.50 1863.00
MEAS. LINE SHOE JOINT	POZMIX 92	@ 7.55 694.6
CEMENT LEFT IN CSG.	GEL S	@20.00 162.00
PERFS.	CHLORIDE	@
DISPLACEMENT	ASC	@
EQUIPMENT	Floseof So 163	@2, 43 142, I
	RECEIVED-	@
PUMP TRUCK CEMENTER GRENN	KANSAS CORPORATION COM	MOBSIMI
398 HELPER TRAVIS		@
BULK TRUCK	FEB 0 9 2009	@
# 345 DRIVER Doug	CONSERVATION DIVIS	10h' @
BULK TRUCK	WICHITA KS	
# DRIVER	HANDLING 238	-@ -
	HANDLING 338 MILEAGE SKI	@ die 333 3
REMARKS:	WILLEAGESY	11 687
REMARKS:		TOTAL <u>4587.</u>
2 CK @ 2 C 2 C		
25 Sk @ 3520	SERV	ICE
100 81 0 700	DEPONE OF TOP	
40 81 6 285	DEPTH OF JOB	GC/ NO
10 SR @ 40'+ Plug	PUMPTRUCK CHARGE	791.=
30 Sk @ Rethole	EXTRA FOOTAGE MILEAGE SO	-@
/HANKS		@ 750 375. <u>00</u>
Пунра	MANIFOLD	
() $()$	-	
CHARGE TO: DACH VIL TROPUCTION	./	
SHAROLS TO.	À	TOTAL 1366.
STREET		101AL 7.365.
CITYSTATEZIP		
OTATEZIP	PLUG & FLOA	T EQUIPMENT
	8/8 WiPER Plus	7900
	WITER VIEW	/ @
	A STATE	
To Allied Cementing Co., LLC.	e de la constante de la consta	
v - 1 1		



24 S. Lincoln Street P.O. Box 31 Russell, KS 67665-2906

Voice:

(785) 483-3887 (785) 483-5566

EM Tos

Fax:

Bach Oil Production R. R. #I Box 28 Phillipsburg, KS 67661

INVOICE

Invoice Number: 115953

Invoice Date: Sep 7, 2008 1

Page:

(dlumojero	Wall Name of Originary P.O.	Paymon	Tome
Bach	Ross #2	Net 30	Days
Job Location	Camp Location	Service Date	Due Date
KS2	Russell	Sep 7, 2008	10/7/08

Quantity	Cem'	Description	Unill Price	Amount
160.00	MAT	Class A Common	13.50	2,160.00
3.00	MAT	Gel	20.25	60.75
5.00	MAT	Chloride	51.50	257.50
168.00	SER	Handling	2.25	378.00
50.00	SER	Mileage 168 sx @.10 per sk per mi	16.80	840.00
1.00	SER	Surface	991.00	991.00
50.00	SER	Mileage Pump Truck	7.50	375.00
1.00	EQP	Wooden Plug	66.00	66.00
			RECE KANSAS CORPORA	TION COMMISSION
			FEB 0	9 2 000
		and the second of the second o	CONSERVAT	TONDIVIS TA, KS
ALL PRICES A	RE NET, PAYABL	E Subtotal		5,128.2
	OWING DATE O	Sales Tax		134.85
	1/2% CHARGED . IF ACCOUNT IS	Total Invoice Amount		5,263.10
	KE DISCOUNT O		·	5,200.11



ONLY IF PAID ON OR BEFORE

© © © 7, 2008

•	1
Subtotal	5,128.25
Sales Tax	134.85
Total Invoice Amount	5,263.10
Payment/Credit Applied	
TOTAL STATE OF THE	Remo de

ALLIED CEMENTING CO., LLC. 34562 SERVICE POINT: TO P.O. BOX 31 **RUSSELL, KANSAS 67665** ON LOCATION JOB START RANGE JOB FINISH Licom. LOCATION OLD OR KEW (Circle one) CONTRACTOR **OWNER** TYPE OF JOB HOLE SIZE 121 **CEMENT** AMOUNT ORDERED 160 com 39 CASING SIZE #5/8 2.6 DEPTH 2 **TUBING SIZE** DEPTH DRILL PIPE DEPTH TOOL was a second DEPTH : PRES. MAX **MINIMUM** MEAS. LINE **SHOE JOINT** POZMIX CEMENT LEFT IN CSG. 15' GEL. CHLORIDE _ PERFS. @ 51.70 DISPLACEMENT ASC **EQUIPMENT** KANSAS CORPORATION COMMISSION **PUMP TRUCK** CEMENTER _ Craiq HELPER CONSERVATION DIVISION @ -**BULK TRUCK** WICHITA.KS DRIVER **BULK TRUCK** DRIVER HANDLING MILEAGE ___ **SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE (O MANIFOLD STREET . PLUG & FLOAT EQUIPMENT 1-870000 @ 66.00 To Allied Cementing Co., LLC. You are hereby requested to rent cementing equipment